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Q.1 Choose the correct answer from four possjble
answers (AB,C,D) and fill the correct answer on

MCQ's sheet separately.
Which of the following is not an example of amorphous

solid?
A) Rubber B) Glass C) Glucose D) Phase
i)  Alloyis an example of solution &

A) Liquidin liquid B) Solid in liquid
C) - Solid in solid D) / Gas in solid

ii) - What is the oxidation number of manganese in KMn04
A) +T B) +3 C) +4

v) The word Alkali means

)

Base

ﬁiﬁ@!
C) Acid

The fo @m
W\NW NaHCO,

C) . Ca0 D) NaCl
vi) - Which of the followlng is homogeneous mixture?

A) Smoke B) Ar  C) Fog D) Smog
i) Rulherford bombarded the gold o with ____

©@m '

A) Alpha B) Beta
C) Gamma D) ' Electron
i) L-shell has sub-shell(s) __ |
A s B) sp C) spd D) spdf
%) Modern periodic table was put forwarded by _____.
A)  Lavoiser ) Mendeleev

C) Dalton - D) Moseley
ol

o  S-block elements are .
) i) V\mw@ﬂ



